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School Level Examination

DO NOT OPEN THIS BOOKLET UNTIL INSTRUCTED TO DO SO
* All questions are compulsory.

* Read the instructions on the ANSWER SHEET and fill in your NAME,
CLASS and OTHER INFORMATION.

To mark your choice of answer by darkening the circles in the Answer
Sheet, use an HB Pencil only.

* You MUST record your answers on the ANSWER SHEET.

* There are 30 MULTIPLE CHOICE QUESTIONS. Use the information
provided to choose the BEST answer among the four possible options.

On your ANSWER SHEET fill in the oval that matches your answer.
* Marks are NOT deducted for incorrect answers.
* Return the Answer Sheet to the invigilator at the end of the examination.

* Write your Roll No. on the Question Paper too and take it home for future
reference.

*You are NOT allowed to use a calculator.

You may use a ruler and spare paper for rough work.



Section - A

(This section contains 5 multiple choice questions. Each question has four
choices (A), (B), (C) and (D), out of which only ONE is correct.)

1. Which figure comes next in the given pattern?
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(C) ° o

2. If the bat is removed from the picture, then the bag would be at

position from left.
"
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(A) Second (B)  Fourth
(C) Fifth (D)  Sixth

3. Find the missing term in the given pattern.

aaa, ccc, eee, , il

(A) fff (B) hhh

(C) 999 (D) bbb
4. Find the number of triangles in the given figure.

(A) 10 (B) 12



(C) 14 (D) 16

5. Choose the figure which is different from the rest.

(A) (B) P
(c) o |

Section -B

(This section contains 25 multiple choice questions. Each question has four
choices (A), (B), (C) and (D), out of which only ONE is correct.)

6. Sakshi chose a starfish whose sum is 573. Can you find which starfish she
chose?

(A) * (B)
() * (D)
7.  Which of the following shapes has NO edge?

(A) E (B)

(D)
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8. All jars containing water will be poured in the given bucket. How many litres of
water will the bucket have?



10.

11.

12.

(3L) (3L) (3L) (3L

(3L)(3L)(3L)(3L) (3L

(A) 28L (B) 27L

(C) 25L (D) 9L

Find the largest three digit number that you can make from the given digits on the
right.

(A) 872 (B) 874

(C) 287 (D) 124
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(A) 4 groups of 4 pencils (B) 4 groups of 6 pencils
(C) 5 groups of 6 pencils (D) 6 groups of 5 pencils

What is the weight of the cauliflower?

(A) 200g (B) 550g
(C) 650g¢g (D) 850¢g

Vaishali wants to distribute 20 chocolate candies among her 4 friends. Each

friend gets candies.



13.

14.

15.

16.

(A) 4 (B) 5
(C) 10 (D) 12

Choose the correct number.

| O |
(A) 852 (B) 528
(C) 582 (D) 285
| have six flat surfaces and twelve edges. Which of the following am 1?
(A) (B)
(C) (D)
How much less distance did Meenu cover than Reetu?

Reetu

| ¢ 540 km )I
& 450 km —

A Meenu B
(A) 90 km (B) 110 km
(C) 190 km (D) 990 km
3 +3+ 3+ 3+ 3 can be written as X =15
(A) 15x1=15 (B) 1x15=15
(C) 5x3=15 (D) 6x3=15




17.

18.

19.

20.

21.

Which tool would you use to measure your body temperature?
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Anuradha bakes 25 cupcakes. If she packs 5 cupcakes in one box, then how
many boxes does she need to pack all the cakes?

(A) 3 4

(C) 5 6

There are 3 sweets in one packet. How many sweets are there in 4 packets?
(A) 4 B) 7

(C) 12 (D) 16

There are 982 students in a school. 458 of them are girls. How many boys are
there in the school?

(A) 524 (B) 534
(C) 624 (D) 583

90 minutes before the time shown by the clock is




22.

23.

24.

25.

26.

27.

(A)  12:30
(C) 2:30

(B) 1:00
(D) 4:00

Subtracting 4 repeatedly from 20 is same as

(A) Dividing 20 by 4
(C) Dividing 20 by 5
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(B) Multiplying 20 with 4
(D) None of these

§= . Which two things she can buy?
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(A) Football and book
(C) Football and flowers

There are 13 crows, 15 parrots and
altogether?

(A) 45

IS ]G IS —

0o

In 794, 9 stands for
(A) Ones
(C) Hundreds

Which shape has the maximum sides?

)

(C)

(B) Book and flowers

(D) T-shirt and flowers

17 pigeons. How many birds are there

(B) 46
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(B) Tens
(D) Nine
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(A) P (B) Q

(C) R (D) S

28. The sum of 4 hundreds + 3 tens + 7 ones and 4 hundreds + 5 tens is
(A) 887 (B) 842
(C) 878 (D) 923

Study the given graph and answer the questions 29 and 30.

Number of biscuits each child ate
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Each . stands for 5 biscuits.

29. Who ate the most number of biscuits?

Lal

Karan

(A) Ruchi (B) Karan
(C) Lal (D) Mohan
30. Which two children ate an equal number of biscuits?
(A) Mohan and Mala (B) Mohan and Ruchi

(C) Mala and Karan (D) Mohan and Karan
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